B = 90°% AAHAF ABCF A A
/DEC = 90°, BC = EC°]1, ADBC = ADEC
A =]

(RHS &3)E 4
7)o A B5 Zefet

D

B
@ BC =EC © /DBC = /DEC
© DB =DE ® (DAE = /BDC

v V. v Vv
0
LI (L i
&)

0
L
©

RHS 52 7 224219 9] el o
7 247 gom gsolt
Z

Zol7} 2.
g% 9l 1a

ot




2.

= AABCOIA x, y o] gh& A= U

AL

O 3, 20 @ 3,225 @ 5,20
@5, 225 © 4,25

B

St

his

ABED = ABCD (RHS %) o]t}
/CBE = 180° - 45° - 90° = 45°0] 1,
/CBD = /EBD = 22.5°

S Ly =225°

AAED &= 3 Ztol 5z g ol

(- (DAE = 45° = /ADE)
DC=ED = AE =5cm

. x=>5cm




